BRABSHREAMRES 2 Bl FTIERRT
p. 1, ©25 1447H: [V(0) = Spec Al = [V((0)) = Spec R

p. 5, 417H: To:Z X xgY] = [¢p:Z X xgY]

p. 6, 25 10417H: Tliopil = Ipjodl

p. 8, B2 o 1017H: THERIMOMNT2ER ] = R 220H )

p. 11, ¥2 5 947H: (M, J)NLT) = (M, )IZHLT]

p- 12, "2 5 1117H: Tpo=1idl = Tyg=idw]

p. 14, find 2.1.3 OFEHAF OEX 1 1TH ORBZIENZ I INZ 5. Hy(w(a, Hy)
= Hy(w(a, Hy))
15, R0 247H: (o, .., prn)] = [(z1,...,7,)]
.16, line 13: H{p;, i) = [{p1,vy:}]

T T

p. 16, line -6: quiza%lJ = rH‘h:a%lJ

p. 27, T 16 517H:
Loy EHLEEK = L OREY &R

p. 27, K6 317H:
[0; = gij0u,1 = 10; = gi;0;]

p. 28, 347H:
3~ @ Lom))
DEED ) 1AL

p. 29, F25 147H: p*L = O-1)- = p*L = O1-1)x
p. 30, 1417H: p*L = O-1)» = p*L = O(-1)x

p. 30, 14 17H: p? = p*0

p. 36, 1347H: M/INJ = [M/IM]

p. 43, M (3.6) : MEGH o1 & oo EANEZD.

p. 45, 5 17H:
[0(d{x,y} Ndz}) +0(d{y, 2} Adz}) +0(d{z,z} Ady})] = TO(d{x,y} A
dz) + 0(d{y, z} Adz) + 0(d{z,z} N dy)]

p. 55 4.1 1FTH X ORF R Sing(X) 12 X O Sing(X) 1]
= X O E A Sing(X) 1)



p. 62, EA5 247H: Tgi~i(y)) = Tg7(y)]

p. 64, F2:5 5417H: T[Poisson integal closed subscheme| = [Poisson

integral closed subscheme|
p. 68, 25 747H, 617H, 517H: X = Z

p.70, 11 17H: T#HEV - G BV -8 = [ERV-E T DY —
BED

p. 71, FH»5 547H: [dimO" = dimg — rankg — 2] = [dimO*" =
dim g — rankg — 21

p. 78, ‘Fﬁkg 9 ﬁia |‘t¢1111 N t;adlj = rt;all .. .t;adlj

p. 83, 1347H: T(j=1,...d)) = [(j=iy,...,i4)]

N

p. 83, "2 5 817H: [ldim({a;}icsus) > d—11 = [dim{{a;}icrus) <
d—1]

p. 83, FA5 24TH: [2b1202 . 2hmqpt qwem | = TRb1p02 . pbmoyr qyem |

p. 85, F25 1347H: 1St NdimTep 1(0)) = 1SN Tau '(0))

p. 85, 75 10/7H: ISt NdimTeu=1(0)) = 1SN Tu 1(0))

p. 85, F25 843 H (28i): [SLNdim Tep ' (0)) = [SENTeu(0)
p. 85, F25 617H: St NdimTyp (0)) = 1SN Teu 1(0))

p. 86, 44T7H: TV ik dux \2&->Tl = 8 1% duy, I2&> T

p. 87, 217H: [zywa; +---1 = [zjwia; + -]

p- 93, 71TH:
+(83 — 84)(383 + 3s4)

+(s3 — $4)(3s3 +3s4) + - - -

p- 93, 26 1017H: Vi, Vg, 1, Vy,l = TF, Fy 1, Fy,)

p. 93, F»5 947H: line -10 LR V;, V;_, £RoTWVWH LI A%
F,F | L[5,

p. 105, "5 447H: Tbou=u'b] = [bu' = ubl

p. 106, 117H: TB=UT) = [B=UH]



p. 119, Fr5217H: ey H - CIlZ{LT) = BEy: H - C*
IR LT

p. 120, 25 147H: Tr3, 1 = [(r,,)")
p. 125, 10/7H: [RT7V Y 2 bRiE] = [HET VY 2_7 kL)

p. 128, M (7.3) kv 247 F: @3 L) = Toy S L)

p. 131, 6 77H: w|d(0)|r(-) = w|dOy|r(-)

p.134, 256 917H: [pt € T(Y — 7 1(0),7* M) &AKT. | =
[m*t e (Y — 7~ Y0),7* M) AT, |

p. 144, 16 77H: Tgx] = Tg*]

p. 144, 25 117H: Tgt ~0ft] = [P(g*) ~D4]

p. 147, 25 947H: TP(p*)(0) =01 = [¢*(0)=0']



